NCASE

T1Sandwich Kit
Version 2.9

Flatpack Assembly Manual



Flatpack Assembly Manual

M3 Countersunk Screw

This screw only works for countersunk holes.
This screw allows for a slightly stronger lock.

OR

M3 Flat Sunk Screw

This screw works for most of the steps in this manual.
One screw type makes for an easier build experience.

M3 Standoff Screw-5

-
Standofi-6 gy ThumbScrew-10
—17

M3 Standoff Screw-6 M3 ThumbScrew

Standofi-10

M3 Standoff Screw-10

Standofi-20

M3 Standoff Screw-20

M3 Standoff Screw-30

Standofi-40

M3 Standoff Screw-40

o

Flatpack Assembly Manual

Extra Accessory

S e [1] Front Panel SW
[2] Rear Panel SW
[3] Top Panel
(4] Bottom Panel
[5] AOIBracket x2
(6] Fan Bracket x2
Top Strut
Side Struts x2
[9] Riser Bar
Power Cable
1] SFX PSU Bracket
12] Case Feet x4
N3] Side Panels x2
USB 10 Cables

\. 2)

T1 Sandwich Kit Version 2.5

T1 Sandwich Kit Version 2.5



Flatpack Assembly Manual

Te, Te

Flatpack Assembly Manual

Choose Standoff
based on your GPU Thickness

_.----1.25 GPU Slot

P [Standoff-5]
3 _----1.5 GPU Slot

. [Standoff-10]
2 GPU Slot
[Standoff-20]
.....2.25 GPU Slot

[Standoff-5] + [Standoff-20]

--2.5 GPU Slot
[Standoff-30]

~-2.75 GPU Slot
[Standoff-5] + [Standoff-30]

-3 GPU Slot
[Standoff-40]

---3.25 GPU Slot
[Standoff-5] + [Standoff-40]

=== Standoff-40

== Standoff-30
=== Standoff-20

== Standoff-10
@ Standoff-5

M3-FS-5 M3-Cs-6

T

M3-FS-5

4

J

T1 Sandwich Kit Version 2.5

\.

Y,
T1Sandwich Kit Version 2.5

T1 Sandwich Kit Version 2.5

T1 Sandwich Kit Version 2.5



p
Flatpack Assembly Manual
% N
,,{"/ —
- -
| — i
T T
— O — —
M3-FS-5
\5

M3-Cs-6

J

T1 Sandwich Kit Version 2.5

T1 Sandwich Kit Version 2.5

Flatpack Assembly Manual

5 @ J

T )(3\0r Txs

M3-FS-5

M3-Cs-6

&)

T1 Sandwich Kit Version 2.5



Flatpack Assembly Manual

Flatpack Assembly Manual

T1 Sandwich Kit Version 2.5

Tu

M3-FS-5

L

#6-32 screw for
the power supply
instalation is not
included. 8

J

T1 Sandwich Kit Version 2.5



Flatpack Assembly Manual

NN
Lom e
@)

Flatpack Assembly Manual

T1 Sandwich Kit Version 2.5

M3-FS-5

10

T1 Sandwich Kit Version 2.5



Flatpack Assembly Manual

Flatpack Assembly Manual

M3-FS-5 M3-Cs-6

12

T1 Sandwich Kit Version 2.5

Wl
T1 Sandwich Kit Version 2.5



Flatpack Assembly Manual

M3-FS-5

E

Tr,

T

M3-Cs-6

T1 Sandwich Kit Version 2.5

Flatpack Assembly Manual

Tu T

M3-FS-5 M3-Cs-6

T

M5 x 8 screw for

the fan instalation
is not included.

L 14

J
T1 Sandwich Kit Version 2.5




16

T1 Sandwich Kit Version 2.5

-
-—"
-
-
-

S
-7
-
e 5

,,:
&)
&S
i
&
1=
o
[
[
i
&
S
|| l [
I
S i
£l
i
— ] i
—
i
;
|
S
5]
:
&)
h
(&
M :_,
,_4
:H
[
v o
)
| i
= f,_.,
[
&
it
mmmm ”?
{
&
& 1
%1}
)
i
!
s &4
na o etae e
_\
= — | /-
, =
i .
I8 )
X :
(= =
D
bo-___ n
::::::: [T
bl ] =
::::::: o™ I
(14 | I Tt = | e e
= - _ M Y
lllllll {
\ |
' 7 \
H
, !
,7 J@
) (i 7 i
(-] |18
)
— | Q
|
|
[ | ,
& ||t .
| V. _
= |
| f
| 41 il
.— |
l
|
| N /'
&= |
s 7 i | | , [
=r LA (e
(= =

7

T1 Sandwich Kit Version 2.5

15



Flatpack Assembly Manual

\
T
| L}
|
)
| I
i
| K
| 1K
‘1
| i
e
| ‘i\
\ 1
|
Ul
S
~) L%
\

—f

M3-TB-10
17

T1 Sandwich Kit Version 2.5

NCASE

T1Sandwich Kit
Version 2.5



